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Instructions : (1)

ENGLISH VERSION

(2) Each question carries 20 marks.

The question paper contain five questions.

1  The following are the Balance Sheets of the Sanyam Ltd. 20
as on 315! March :
Balance Sheet
Liabilities 2015 2016 | Assels 2015 2016
Equity Share Goodwill 30,000 27,000
Capital 2,00,000 | 2,50,000] Land and
Securities Premium 10,000 15,000 | Building 90,000 | 1,40,000
Gen. Reserve 35,000 40,000 | Machinery 1,30,000 | 1,50,000
P and L Account 25,000 90,000 | Patents 50,000 45,000
6% Debenture 1,00,000 [ 1,00,000 | Furniture 15,000 13,500
Creditors 30,000 40,000 | Debtors 45,000 70,000
Provision for Cash/Bank 5,800 7,000
Tax 18,000 15,000 | Stock 50,000 96,000
Debenture
Discount 1,200 1,000
Preliminary
Exp. 1,000 500
4,18,000 | 5,50,000 4,18,000 | 5,50,000

Additional Information :
Depreciation written off : Land and Building Rs. 9,000,

ey

)

3)

Machinery Rs. 13,000, Patents Rs. 5,000,
Furniture Rs. 1,500.

During the year machinery of Rs. 20,000 was sold at

Rs. 15,000.

During the year taxes and dividend paid were Rs. 10,000
and 20,000 respectively.

From the above informations, prepare a Statement of

Source and Application of Fund and a Statement showing

changes in Working Capital for the year 31-3-16.
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1 (a) State the usefulness of a Cash-flow statement. 10
(b) Explain the difference between Fund flow statement 10

and Cash flow statement.

2  SALONI Company manufacturing a single article, sell it 20
at Rs. 10 per unit. The variable cost is Rs. 6 per unit and
fixed cost is Rs. 4,000 per annum.

Calculate from above informations :
(1) Profit-Volume Ratio
(2) The Break-even Sales
(3) The Margin of safety if total sales are Rs. 15,000.
(4) The sales required to earn a profit of Rs. 5,000.
(5) The amount of profit when sale is Rs. 15,000.

OR

2  Rewrite the following table filling the blanks with 20
missing figures. Show necessary calculations :

Material | Standard | Standard | Actual | Actual | Material | Material | Material
Quantity | Price Rs.| Use Price Cost Price Usage
in kg (per kg) kg. Rs. Variance | Variance | Variance
(Per kg) Rs. Rs. Rs.
A 1400 21 1540 (-) 2695
1050 14 910 1225
1750 17.50 15.75 (-) 3675

3 Prepare cash budget for six months ended 315t August, 20
based on the following information for Anita Ltd. :

Month Sales | Selling | Purchase | Wages| Factory | Admini-
Rs. Exp. Rs. Rs. Exp. strative

Rs. Rs. | Exp. Rs.

January 1,70,000 7,000 80,000 [ 15,000 10,000 5,000
February 1,60,000 7,500 84,000 [ 16,000 11,000 5,500
March 1,82,000 6,500 83,000 [ 16,800 8,000 4,500
April 1,565,000 6,800 83,000 | 12,000 10,500 4,700
May 1,65,000 7,400 76,000 | 18,000 12,000 5,400
June 2,00,000 7,000 68,000 [ 16,000 9,600 5,700
July 1,80,000 6,000 70,000 | 17,000 8,000 5,000
August 2,20,000 5,500 58,000 | 16,500 9,600 5,500
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Additional Information :

(1) Period of credit allowed by suppliers and to customers :
1 month.

(2) Lag in payment of :

1
Wages gth month, Other exp. 1 month.

(3) Machinery purchased for Rs. 50,000 in March, payable
on delivery.

(4) Building purchased in April for Rs. 1,50,000, payable
in two equal instalments in May and July.

(5) Commission at 3% on sales payable two months after
sales.
OR

The following two alternatives are present before 20
Gayatri Ltd. for investment in new project :

Particulars Project A Project B
Initial Investment Rs. 50,000 Rs. 50,000
Estimated Life 5 years 5 years
Cash Flow : Rs. Rs.
Year : 1 15,000 5,000
Year : 2 20,000 15,000
Year : 3 25,000 20,000
Year : 4 15,000 30,000
Year : 5 10,000 20,000
Present value of Re. 1 at the discount rate of 10% is
as under :
Year : 1 2 3 4 5
Discount Factor : | 0.9091 | 0.8265 | 0.7513 | 0.6830 | 0.6209

Find out the profitability of both the projects by following

methods :

(1) Net Present Value

(2) Pay Back Period.

4  Explain :

(1) Objectives of Budgetary Control.
(2) Advantages and limitations of Budgetary Control.

NX-7863]

OR
7

10
10

[Contd...




4 The Balance Sheet of Dishan Ltd. as on 31.3.2016 is 20

as under :
Liabilities Rs. | Assets Rs.
Equity Share Capital| 4,00,000 |Land - Building | 3,00,000
8% Preference Plant -
Share Capital 1,50,000 | Machinery 3,00,000
Reserve and Surplus 50,000 | Debtors 1,80,000
9% Debentures 1,50,000 | Stocks 1,20,000
Creditors 1,50,000 | Bills Receivable 20,000
Bills Payable 40,000 | Bank Balance 80,000
O/s. Expenses 30,000
Workmen Profit
Sharing Fund 30,000
10,00,000 10,00,000
Additional Information :
Rs.
(1) Sales (cash sales is 25% of the credit sales) ... 30,00,000
(2)  GroSSs Profit .....oovvveeiieiiiiiiieiieee s 7,50,000
(3) Net profit (before debenture interest
and 50% £AX) ....eeeeiieiieieeeee e 4,33,500
Calculate the following ratios :
(1) Gross Profit Ratio
(2) Net Profit Ratio
3) Current Ratio
4) Liquid Ratio
(5) Debtor Ratio (on the basis of 300 days).
5 Write short notes : (any four) 20

(1) Key Factor

(2) Advantages of Ratio Analysis

(3) Importance of Management Accounting
4) Utility of Flexible Budget

(5) Fixed cost and Variable cost

(6) Internal rate of return method

(7) Limitation of Standard Costing System.
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